)
D—’— x INS-230D/PM November 8, 2016 (3396.dwg) |[B |
—

Detex Corporation, 302 Detex Drive, New Braunfels, Texas 78130-3045
830-629-2900 / 800-729-3839 / Fax 800-653-3839 / Text photos only: 830-481-6433 / INTERNET: www.detex.com

INSTALLATION INSTRUCTIONS FOR THE ECL-230D/230D-PH EXIT CONTROL LOCK

(WITH 2 KEYS)

SHIELD, PADDLE BAR

PADDLE BAR, SHORT ECL—419 SPRING
ECL—332 PLATE,
ECL—8220 ECL-247  \MECHANISM ASSEMBLY

ECL—243PH

PADDLE BAR, LONG

CAM BRIDGE ASSEMBLY
KIT ECL-1576—-15

SCREW #10-32X3/8" TSR
PP-5207—-106 SIS CAM PLATE BOTTOM
' ECL—285A

ECL—2105 PLATE,
ECL-2109 \
q‘\,
NUT PLATE o
ECL-269 QQ N\ BACKPLATE
A ECL—354AR
) S,
| / Q&Q
I/ S
s BOLT ASSEMBLY
" ECL-306—1

LOCKSET

PP-5572

&

7 — DETENT LEVER AND ROLLER ASSEMBLY
/ ECL—293A
KEY DETENT SPRING
ECL-405 REPLACEMENT KIT ECL—284
ECL—308/309
P/N 101796
ACTUATOR AND RELEASE LEVER KIT

ECL-1576—-20

SWITCH ASSEMBLY
ECL—204 N

9V BATTERY CONNECTOR

100331
SIREN
PP—-5966—1
—— 9 VoLT

BATTERY For device installation

PP-5567 id de
SIREN SWITCH ASSEMBLY videos, scan co
100069—1 below or go to

ILLUSTRATED PARTS BREAKDOWN detex.com

PROBLEMS?

Contact Customer Service at 1-800—729-3839

[/ Owner's Copy 4

INS-230D/PM Page 1




ar =

90KR

DDH-2250

ECL-435K

Ul = ||| ed G

SINGLE DOOR DOUBLE DOORS DOUBLE DOORS WITH
REMOVABLE MULLION

FIG. 1 - APPLICATIONS, ECL-230D

B

DDH-2250

90KR

ECL-435K

DOUBLE DOORS WITH
SINGLE DOOR
DOUBLE DOORS REMOVABLE MULLION

FIG. 2 - APPLICATIONS, ECL-230D-PH

TOOLS AND SUPPLIES REQUIRED

PENCIL

TAPE FOR TEMPLATES
CENTER PUNCH
HAMMER

DRILL MOTOR

DRILL BITS
SCREWDRIVERS
LINESMAN'S CUTTERS TO CUT THE RIM CYLINDER TAILPIECE
TAPE MEASURE
COMBINATION SQUARE
10-24 TAP

INS-230D/PM Page 2




DOOR AND FRAME PREPARATION

FRAME

9 ﬁ%

TWO TEMPLATES ARE PROVIDED. SELECT THE PROPER ONE, MORTISE OR SURFACE STRIKE, AND
FOLD ALONG DASHED LINE MARKED 'FOLD UP 90°'.

DRAW A LINE ON THE DOOR, FOR CENTERLINE OF BOLT. HEIGHT OF THIS LINE FROM FINISHED
FLOOR AS SHOWN ON THE TEMPLATE IS 43-3/8" FOR LHR & 42-5/8" FOR RHR.
BUTT THE DOOR FIRMLY AGAINST THE DOOR STOP. POSITION THE TEMPLATE ON THE DOOR.

MARK THE 4 HOLES MARKED 'A’ AND THE 4 HOLES MARKED 'B' ON THE DOOR.
MARK THE 'B' HOLES ON THE FRAME: 2 HOLES FOR MORTISE STRIKE OR 3 HOLES FOR SURFACE

STRIKE.

CYLINDER).

&
%
6\,94 /4/@
Op
8,
Lr

LHR INSTALLATION
SHOWN

SEE TEMPLATE

IF THE OKC IS TO BE INSTALLED, MARK THE OKC HOLE CENTER, AT 'C' FOR LHR OR 'D' FOR RHR.
BORE A HOLE THROUGH THE DOOR FOR THE OKC RIM CYLINDER. (1-1/4" DIA FOR THE DETEX

DRILL DOOR HOLES MARKED 'A’ (#18 DRILL) FOR #12 SCREWS.

DRILL DOOR HOLES MARKED 'B' (#25 DRILL) FOR #10 SCREWS.

DRILL FRAME HOLES MARKED 'B' FOR #10 SCREWS.

INSTALL THE STRIKE WITH #10 SCREWS.

TO REMOVE COVER FROM DEVICE, TURN COVER LOCK KEY COUNTERCLOCKWISE
(CCW) UNTIL COVER RELEASES.

INSTALL BACKPLATE & STRIKE
(SURFACE STRIKE SHOWN)

RHR INSTALLATION

LHR INSTALLATION

INSTALL THE BACKPLATE WITH #12 SCREWS
IN THE HOLES MARKED "A’

FIG. A- OUTSIDE KEY CONTROL (OKC) INSTALLATION

IF THE OKC IS TO BE INSTALLED, DO SO AS SHOWN BELOW.
FOLLOW LABEL INSTRUCTIONS ON REAR OF MECHANISM

SPRING
TIMING MARKS /

NOTE: REMOVE KEY FROM CYLINDER

CYLINDER

7 /7]
EScuTCHEON (77777 PLATE

LOCKWASHER

SCREW (2)

7 [ ~~DboOR
) REAR OF MECHANISM

NOTE: DO NOT REMOVE
THE PUSH NUT

DOOR THICKNESS PLUS 5/8" (15.9mm) FOR
1/8" (3.2mm) ESCUTCHEON

FIG. B- INSIDE KEY CONTROL (IKC)
INSTALLATION CYLINDER / TAILPIECE
PREPARATION

NOTE: THE CAVITY IN THE CAM BRIDGE IS DESIGNED FOR
A 5-PIN RIM CYLINDER. IF A LONGER CYLINDER IS USED,
CONTACT DETEX TO OBTAIN A COLLAR TO MAKE UP THE
GAP.

PART NUMBER ECL-1595-1.

SEE VIEW BELOW:

VERIFYING TAILPIECE LENGTH:

|12 (38.1mm) I 1-1/2" (38.1mm)

%g

TAILPIECE TAILPIECE

ESCUTCHEON (ECL-1595-1)

A25"——{ =

CUT TAILPIECE AS REQUIRED TO
OBTAIN ABOVE DIMENSIONS

SECURING THE CYLINDER:

@ REMOVE CAM BRIDGE:
®

(2)SECURE CYLINDER:

ALIGN TIMING MARKS
REMOVE KEY, ALIGN TIMING MARKS AND INSERT CYLINDER.

INSTALL 1 SCREW AND LOCKWASHER IN THE EXPOSED HOLE.

INSERT THE KEY AND TURN IT TO EXPOSE THE SECOND HOLE.

INSTALL THE SECOND SCREW AND LOCKWASHER.

TURN THE KEY IN BOTH DIRECTIONS.
THERE MUST NOT BE ANY FRICTION OR BINDING.

CAM SHOWN ROTATED TO
EXPOSE SCREW HOLES.

WITH KEY REMOVED,
TIMING MARKS
SHOULD BE ALIGNED

LOCKWASHER

INS-230D/PM Page 3



INSTALL INSTALL
MECHANICAL CAM INSTALL CAM BRIDGE ASSEMBLY:
ASSEMBLY BRIDGE

NOTE: WHEN RE-INSTALLING CAM BRIDGE ASSEMBLY,
REMOVE KEY FROM CYLINDER AND MAKE SURE BOTH
MICRO-SWITCHES ARE PROPERLY SEATED ON
PLASTIC BASE (ECL-308).

SECURE CAM BRIDGE.

INSERT KEY IN IKC CYLINDER AND CYCLE SWITCHES
BY TURNING KEY CLOCKWISE/COUNTER-CLOCKWISE
270 3 TIMES.

INSTALL THE MECHANICAL ASSEMBLY
WITH 4 #10 SCREWS IN THE 'B' HOLES.

INSTALL PUSHBAR

RETAINING RING PIN

FRONT OF MECHANISM

RETAINING RING

INSTALL COVER & SIGN

V4
N

COVER IS LEFT LOOSE TO
ASSIST SIGN INSTALLATION

HOOK COVER OVER SLOT
IN BACKPLATE

IN THE HARDWARE KIT, FIND
THE PUSHBAR RETURN
SPRING (ECL-247)

AND PLACE IT ON THE
RETURN SPRING BOSS ON
THE MECHANICAL ASSEMBLY

TIGHTEN THE MOUNTING CYLINDER
BY ROTATING CLOCKWISE (CW)
WITH SUPPLIED KEY UNTIL COVER IS
SECURE.

ENSURE THAT TEXT IS RIGHT SIDE UP
AND FACING AWAY FROM DOOR

INS-230D/PM Page 4



TESTING:
Lock operation and condition of battery (or battery eliminator):
1. With the door closed, rotate the I.K.C. key clockwise a full 360 degree (from the key out position) to extend the bolt into the strike

(the locked position). Remove the I.K.C. key. Next push the paddle bar. The alarm should sound and the bolt should retract to unlock
the door.

2. Open the door.
3. Close the door, rotate the IKC key clockwise a full 360°.
The bolt extends and the unit stops sounding.

SHAFT AND

|-

CAMS
BOLT AND
OKC operation (if used): BOLT SLOT
Using OKC key, extend/retract bolt.
Unit should not sound and door should be free to open. PIVOT HOLES
|_SPIN AND '

VISUAL INSPECTION (Twice a year) PIVOT POINT RUBBING
1. Inspect door and door frame. Make sure door opens easily and AND RUBBING SURFACES

does not bind against the frame or threshold. Check for doorsag  gyrraces

and warping. Also check conditions of hinges and lubricate as

needed.
2. Remove lock cover. Check for dirt accumulation, battery leakage, and for

smooth operation of bar, bolt and cylinder. Lubricate moving parts as required. PIVOT POINT, SLOTS AND

(See Lubrication Diagram). RUBBING SURFACES

Important Note: When extended, the bolt must never bind against the
inside of the strike. Should the bolt bind, reposition the strike so that the
bolt withdraws without restriction.

3. Repeat Operation Test (above) several times to insure proper functioning.

Lubrication Diagram

TROUBLESHOOTING
1. Siren does not sound when the paddle bar is pushed:
A) Remove the cover by inserting the cover key and turning it counter-clockwise until cover releases
B) Disengage the cover from the back plate and swing it out of the way.
C) Confirm the battery is good visually and the voltage is a minimum of 7 volts. If OK continue. If not replace the battery and
check for broken wires and retest. If unit is still not sounding call DETEX Customer Service in USA at 800-729-3839.
2. Key control cylinder (IKC) (Fig B on page 3)- Hard to turn (Binding):
A) Make sure the cover key is available.
B) Push on the paddle bar to open the door - with the door open, reset alarm.
C) Keeping the door open, use the key to turn the control cylinder (IKC) key clockwise and counter-clockwise. Bolt should
extend and retract freely.
D) If the bolt and key worked freely, the problem is alignment between the bolt and the keeper/strike.
E) If step "2B" does not conform, remove the cover (see step 1A & 1B).
F) Remove the Cam bridge Assembly. With the key removed, confirm the timing markings are aligned.
G) If the timing marks do not line up then reinstall the cylinder (per instructions).
H) If the cylinder turns hard, the tail piece is too long and needs to be cut as shown. Detex 5 pin cylinder (ECL-445) is shown.
For 6-7 pin rim cylinder use ECL-1595-1 escutcheon and cut tailpiece accordingly.

1) Insert the key in the cylinder and turn it clockwise/counter-clockwise. The cam and the key should turn freely. If the key
turns, but not the cam, the cylinder tail piece was cut too short and has slipped out of the cam. Replace the tailpiece or the
cylinder.

3. The bolt does not retract/extend using the outside key control (OKC) (Fig A on page 3):

A) Remove the unit from the door.

B) From the rear side of the casting, confirm the retaining spring was removed.

C) Confirm the OKC shaft/cam is not broken and the push nut is in place.

D) Confirm the tailpiece length is 5/8" beyond the door or beyond the reinforcing plate.

E) Confirm the timing mark alignment.

F) While the unit is off the door, check the OKC operations. Using a screw driver, turn the cam clockwise/counter-clockwise.

G) Retract the bolt, align the timing marks, remove cylinder key, re-install the lock body (make sure the timing mark does not

move when reinstalling the lock body). Be sure the cylinder tailpiece is engaging the cross slot on the cam.
4. Siren continues to sound after resetting the alarm (Bolt extended):
A) Retract the bolt
B) Remove the cover (see step 1A & 1B).
C) Disconnect the battery
D) Remove the Cam Bridge Assembly screws and the Cam Bridge Assembly and inspect the switch levers. Make sure switch
levers are not damaged or missing.
E) If siren still continues to sound after resetting the alarm call Detex Customer Service Department at 800-729-3839.

INS-230D/PM Page 5



(this page intentionally left blank)

INS-230D/PM Page 6



(wwg'vol) M
8/L—%

TPL=250D—-1

0
!

|
;!
']
|
Ll
T
30
c
|

|

|

|

|

|
——-—-———0—-—0—-—'—-!
|

|

|

|

|

|

|

|

|

|

|

|
@

4-9/16
(115.9mm)

4-1/4
(108.0mm)

(LNO 9NIMS)
¥00a 3ISHIAIY ANVH LHOIN
(YHY)
3QISNI

k

(LHR)
LEFT HAND REVERSE DOOR
(SWING OUT)

IAGLS FOVIINS HLIIM dHdY

TEMPLATE A
LHR WITH SURFACE STRIKE

USE C HOLE FOR OKC CENTER
d4INJO OMO 404 J10H 4 3ISN

NOTE: DIMENSIONS MAY NOT BE ACCURATE WHEN PRINTING FROM WEBSITE
PLEASE CONFIRM DIMENSIONS WITH RULER BEFORE USE

(wwy/ 10l1)
40014 ddHSINI4 WNOd4 8/c—¢¥

(wwy/zgol)

J— S
-t ——

40014 Q3HSINI4 WOY4 8/5-cy

06 dn d104 .06 dN d104

‘d3dd @134 ¥od d4N 400d A9 ONIOHOANITY

INS-230D/PM Page 7

—_ —_ 1
Ol =gz = v 9t/1-1 m 9L/1= PN
‘SM3YOS ONIWYO4—AvIYHL 3SN - e ‘dvL +Z—0l# SIT1OH TV




/=y 8/l
8/¢-¢

TPL=230D—=2

e — S —— S — o
< O (wuwepi1) Iﬁ (wwg'pol) M <

ﬂ (wwe-09) |

&

!

|

|

|

9/16
(115.9mm)

4-1/4
(108.0mm)

(LNO 9NIMS)
3dISNI

TEMPLATE B
LHR WITH MORTISE STRIKE
400a 3ISYIAIY ANVH LHOIY
(MHY)

USE C HOLE FOR OKC CENTER

(LHR)
LEFT HAND REVERSE DOOR
(SWING OUT)

IAGLS JSILHON HLIM odHd

' A

D

o
|
|
K

-

o
y
N
! ! INSIDE
N }
N
||
d }
N
||

7/8 | E@
N
R
R
R
R

S
|
|
|
|
|

E:EA

d3IN3JO OMO 04 J10H 4 3ISN

1-1/8

06 dN d104 06 dN d104

B

QlE

. Ol =8 Cf = v m |_ 033
SMIYOS ONINYOI—QV3¥HL 3SN ) gy — =

‘d3dd @314 ¥o4d
¥/< (ww-ge)

NOTE: DIMENSIONS MAY NOT BE ACCURATE WHEN PRINTING FROM WEBSITE
PLEASE CONFIRM DIMENSIONS WITH RULER BEFORE USE

11/16
(17.5mm)
7/8

‘d¥L ¥Z2—0l# SII0H TV
d4N 400d A8 ONIOHOANITY

(26.2mm

z/1—\ _
(wwo/2Z) F
a/L-+ 1 (ww/°z80l)

1
|
[
1
!
"_“ ——
1

INS-230D/PM Page 8

|

._F (wwp2Z)
(wwzior) | 9H/i-

¥OOT14 Q3IHSINIA WOM4  8/e-cv

A
A

d0014 dAHSINI4 WOH4 8/S—tv






